posl | — | 1x | S4 |pos1s I] x | 25m
pos.2 = | Ix S5 pos.16 H Ix 46cm
pos3 =) | ix | S6 |pos.l7 H a | 27am
pos4 | 7x | M10x40 |pos.18 D 1x |69%x60cm
pos.5 N 4x M6x16 |pos.19 D Ix [60x30cm
pos.6 S 2x M8x30 |pos.20 1x |29%29cm
pas7 | N | 5x | M10x60 |pos.21 E IX  |44x18cm
pos8 | 2X M10x50 |pos.22 @ Ix (25x30x30cm
pos9 | & 8x | MBx40 |(p0s.23|—— |1x |60x4lcm
pos.10| < 1x M10x25 |pos.24 @ Ix |40x30%x30cm
pos.il| [ 2 pos.25 > | 1x  |30x30cm
pos.12 ] 6x 40cm pos.26 ? Ix [24x29cm
pos.13 | ix 60cm pos.27 & 1x

pos.14 - 1x | 30am |pos.28 D 1x 10cm
pos.29 |<—=| 1x | 60*30cm






